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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

QJ b1 I]'E," aﬂ %. Question 1D : 9864493044
This is NOT a use of a concave mirror: oo smf“ﬁ f:"ﬁ“*ﬂ
Ans E‘F—ﬁ' ﬁ' sen Option :
F
In torches
e fer g o & s A
As rear view mirrors
3 e gdoT & T A
As shaving mirrors
X4 vew #
In headlights
& m " E # .@ g-m- 1 ﬂ I '\ﬂ' ﬂﬁl! Question 1D - 9864494323
Status : Answered
Chosen Option ;1

15,20, 18, 23, 2, 26, 24

Select the number missing from the given series.

15, 20, 18, 23, 7, 26, 24
Ans o121

X 228

X324

X 430

Q.3
Question 1D : 9864493938

Status - Answered
Chosen Option ;2




W fiees & oA # A & % wgl F e e & R s f

N\
s B

.

Select the option that correctly fits in the blank space in the given figure.

Ans

754

@4 15,18 3K 24 F7 &7 T FAT FIT?

The LCM of 15, 18 and 24 is:
Ans o 1360

Cuestion 1D ;9864492782
Status : Answered
Chosen Option :1

K3
X 3540
X 46

QS s Cr kit k-0 F Fmm ik aeRE R A Sk w
7 g & e s s
If%® + kx + k = 0 has two distinet real solutions, then the value of k will satisfiy:

Question |D : 9864492776
Status - Answered
Chosen Option ;1

s k < 0 &3
F
k <0 only
XE-U <k<4
0<k<4
?<3k>w4ﬁaa
k=4 only
7 k<Qork=>4
k=<O0Oork=>4

Q6 n' & Feer ueTeRe quitst & fRT. n’ - 8n? + 200 — 13 TF TSI 7
For how many positive integers ‘n’, n? — Bn? + 20n — 13 is a prime?

Ans 2 1. 7

Question 1D ;9864492624
Status : Answered
Chosen Option ;1




x25
X322
i3

Q7 fnafofaa nfofafadt & & o & s07 aff fear o 87
In which of the following activities 15 work NOT done?

e s a9 H U @&

Question 1D : 9864493181
Status : Answered
Chosen Option -2

.8
Ashwin is climbing a bus
, e s @ ¥
Ashwin 1s running
 31f¥Eer wiewE W @I §
o
Ashwin is standing on the platform
x4_31ﬁaf-r ad W@l &
Ashwin is walking

X

Q.8 ow wEm & 32 & wo A Fwfae B e o5 welw e A e
Shrer e ¥ & s aew w70 5 @ W gt semst & ¥ wf ahe
#r greir?

A number was divided in the ratio 3 + 2. When & was added to each of the numbers the

Question 1D
Status
Chosen Option

19864492885
:Answered
i3

ratio changed to 7 ¢ 5. The greater of the two numbers was:

Ans X 1. 69
v 48
<342
X 427

Q.9 Tl g W W AR, TwE R & e g SO @ s
oF AR & e & e b oo e e e B B w s
T 17
The volhmne of a right circular cone, whose radius of the base is half of its altitude, and the

Question 1D
Slatus

19864492955
cAnswered
Chosen Option :

wvolume of 8 hemisphere are equal. The ratio of the radius of the cone to the radios of the
hemisplere ks

Ans X1_Ji:1
X2372:1
vii:1
Xa2:1

O SrafaTea # ¥ #iF O 560 0F 3T aET Y
Which of the following is a prime number?

Question 1D
Status

19864492563
CAnswered
Chosen Option ;

Ans X 1 880
X 2 899
X 31147
v 4 997

Q11 sy 27 &, thaes wiEw & e el & 00 Tree &9 aran T &1 wey
A= o (&< & muEm & oot &) e f sefr oftw s F A
rocfe= -l i ]

In how many test matches did Favichandran Ashwin achieve the feat of bocoming the
fastest player in the world (in terms of number of matches) to get 300 wickets in test

Question 1D
Status

- 9864492230
cAnswered
Chosen Option :

cricket in November 20177

Ans x1 56
X 250



N 52
v 54

Q.12 frfRfEe aedt 3% Bl 57 3 & ol md s A ssEwmm

Ans

Which of the following elements has a total of 3 shells with 5 electrons in the last orbit?
< 1Al

v Ar

X3P

X 4S

Question 1D ;9864493574
Status - Answered
Chosen Option : 2

Q13

Ans

o wya =1 feeeor w4 AR wEw sugEe faeeT g
T AEY ¥ SATET AW AT
Consider the following statement and select the best option.

Gold is more expensive than silver.

v gHem
Always

x 3 Ffr FET
Never

b g
Often

X 4 Tt
Sometimes

Cuestion 1D : 9864493793
Status : Answered
Chosen Option :1

Q.14 TF T8 & 12 950 @ e oiem & T =R 16 o EtE = & i

Ans

30 ©TE w1 FW HEA 18.1 W e W T FR a

Thee mean score i a test of the 12 boys i a class was 16 while the overall mean of the 30
students in the class was 15,1, What was the mean scove of the girls?

X 1205
<2198
v:195
X420

Cuestion 1D : 9864492959
Status : Answered
Chosen Option : 2

Q.15 & mm o7 Toaw Rt & I F wEe W & 112 fE & o

Ans

offeT (75) &1 2017 & 86T & TuAAT o 3= e e A O
FfF FnftE &7

The Prime Minister of India unveiled a 112-feet bust of ‘Lord Shiva in an Adivogi pose”
at the Isha Yoga centre in 2017. In which city is this statue bocated?

Coimbatore

Question 1D ;9864492411
Status - Answered
Chosen Option ;4

Q16 Sy 337 17 (7 -17) Beg 57 2017 5w & & e e o o2

Ans

Which country hosted the FIFA Under 17 (U=17) World Cup in 20177

Question 1D : 9864492309
Status : Answered



HIT Chosen Option ;2
e
India
»N oz
England
i< 3
Brazil
X 4
Spain
Qa7 abaddi
Question D 9864493370
EIl 2 | Status : Answered
i LIS B Chosen Option ; 2
e v #9 w F SRR, 39 o f §@ e ¥ e st
wagdr @A WA A TeEe A g f
3 (o] L]

Ans

Cragioet

According to the given Venn diagram, the total number of students who play cricket as
well as Kabaddi but not football is .

XU
v
xR
Xev

Q.18

Ans

frrafafim guar & o fge & 2oa o FE9The HEIT & 90 )

3,813,182

In the following series. one number is missing as shown by the question mark 7). Select
the missing nurmber from the given oplions,

3,813, 18,7
X122
V223
X324
X421

Question |1D ;9864494248
Status : Answered
Chosen Option : 2

Q.19

T & @ Sl @ 1§ 20 5% S H WTST 3w HEeT §7
Which of the following is the prime number series from 1 to 207

Question 10 : 9864493855
Status - Answered

ans X1.3, 5,7, 11, 13, 17, 19 Chosen Option :4
V223,57 11,13, 17, 19
X3225,7,9 11,13, 17, 19
X41,2 3,57 11,13, 17, 19

Q.20

Question ID : 9864492631



Ans

e BN o A g A ward 7 T §, sEA F v 7 Feher S s s ddeer
P Tt o ST AT EE [eaTa ST | $r w3 5 S A
i)

Status
Chosen Option

cAnswered
-4

From a solid cube of side Tem, a conical cavity of height Tem and radius 3em is hollowed
out. Find the volume of remaining solid?

 , 3005 brarsirey
300 cm®

, 2729 &R
272 cm®

, 2709 p-ririreg
270 cm®

| 277 U HEAR
277 em?®

X

X

v

az21

Ans

HEATHT 3, 1, 1, 5, 2 3T 7Hr aifgemr &
The median of the numbers 3, 1. 1, 5, 2 and 7 is:

Question 1D
Status

(9864492678

sAnswered
Chosen Option :

3

vi25
23
X335
X 42

Q.22 argiaq & A wawEs § @ B @i dw & w1 8 @ S 87

Ans

Whech one of the following oxides of Nitrogen is also known as Laughing Gas?
< 1. NO;

Question ID
Status

19864493411
cAnswered
Chosen Option :

X 2 NO

v i« N,0

Q.23 1o st 7 o wEE Tl dme w12 B A waer o6 e, e

Ans

vEIE WEH FEE & A W weE R 9 den T @ e R
# FAr?

10 people can build a wall in 12 days. Six people, each only half as efficient as those in
the first group, will be able to mphm%nfnﬂaml in:

Question 1D
Status

19864492789
:Not Answered
Chosen Option :

25 e
25 days
R
h 24 days
g 20
20 days

x4_13ﬁ7|'
18 days

x 1.

v

X

Q.24 #Ar Tl aen & e 9 aew  Bed & one oF wo A A

Ans

az & Tw e A B
Q@AIRI-6T4E402°5WS

How manwy such lesters are there m the below arrangement, each of which is immediately
preceded by a number and NOT immediately followed by a letter?

Question ID : 9864493697
Status © Answered

Chosen Option

QEAIRI*6TA&LA02"SWS



.
Three
Th
2
One
v: &
Two
x4 Ol
Four

Q25 et AR adur £ WEGE TEF F oW ) F7 FE ATE Question ID : 9864493323
The diameter of the reflecting surface of a spherical mirror is called a‘an: Status - Answered

Ans x - n Chosen Option -1
§

focus
X2 T
pole

i T 90
principal axis
O (aperture)
aperture

o

928 4096 Fr A T 82 Question ID 9864492643

. Status : Answered
The square root of 4096 is: Clicsan Option 13

Ans 1. 74
< 268
v 64
X 4 56

a.zv i
=ty & et aeftervor & gwat Aea ol @ @ femss S R i i I ladiaatis
The tenth element in the Newland's periodic classification resembles the; Siatus - Answered

/Ana v arE|T Chosen Option : 3
1

Third
9UH

N2
First

star
Ninth
Ttar
Fourth

53

X 4

Q.28
Question 1D - 9864494004

Status : Answered
Chosen Option :4




s SR s e e s o 8 &9
|

Select the image that will correctly fit in the blank space of the following figure,

Ans

52

[/

v e

Q.29 v TR T 3R 0 T AT T T 60 T &1 O e, v o g g , -
mﬂﬁwm]ﬁﬂm?ﬁmmm Question 1D ;9864492593

¥ ; . Status - Answered
The sum of the present ages of a father and his son is 60 years, Six years ago, father's age )
was five times the age of the son. After 6 vears, son's age will be; Chosen Option : 3

Ans 219%

Q.30 ;
Question |0 : 9864493726

Status : Answered
Chosen Oplion : 4




2001-2006 $r s=flr & dow e 2% shee o e (Teeee i ) B2

= ¥ Ay
Gy awam | e | b
2001 |¥ 1,500 (¥ 200 |¥ 500 |¥ 100
2002 |T 2800 (¥ 300 |T 600 |¥ 200
2003 (T 3200 (¥ 150 |T 700 |¥ 150
2004 |7 4,100 |7 250 |7 650 |¥ 125
2005 | 5,000 (7 200 | BOO |% 150
2006 |7 5,200 |¥100 |T 750 (%175

The average expenditure per vear during the period 2001-2006 i5 {round off to the
neares! mleger).

Ttems of Expenditure
Salary | Food | Medicine |  Tax
2000 [T 1,500 T 200 | T 500 T 100
2002 [T 2600 | T 300 | T 600 < 200
2003 (T3200{T 150 T700 T 150
2004 [T 4100 | T 250 | T 650 T 123
2005 | 250002 200 | ¥ 800 T 150
2006 [T52001T 100 ¥ TS0 2175

Ans. X 1.7 2,032
X 2% 2034
X 33T 2,035
v+ %1,017

Year

Q.31 anfr & v &F & 7 825 77T B Tawe 8% =ifies Arueor sna w0 = e
T o7 wer #F A 5w 9% o9 @ § O 9% W 9 e e aEe
FA

Saathi deposited ¥ 525 in a bank that promised 8% simple interest per annum, If Saathi
kept the money with the bank for 5 years, she will eam an interest of ©

Question |1D ;9864492968
Status : Not Answered
Chosen Oplion ;-

Ans  of 1 F 330
X 2 %290
X 3 T 480
X 47280

Q.32 o AB Z9or # & BT 7w O faewat & & o9 o (Problem figure) #r
i gdor ofy w=tF @ #E

Question 1D : 9864493713
Status : Answered
Chosen Option :3

25

From the given four figures choose the correct mirror image for the problem figure when
the mirmor is on AR lige,

T |
NN
Ans X1 D

v:C
X3 A



X4+B

mswmmﬁmf;mm;#wmm?mmm;wm#
What is the fraction which, when taken away from =, gives 27

Question ID : 9864492881
Status : Answered
Chosen Option 2

Ans }(1.—1
2
, 1
v: 6
1
3, =
x |
}(4.1
&

QMR TR i s FRr s s s @ 7
wsTETET & (H))

W S A R et I Jow e 7

Question 1D : 9864494194
Status : Answered
Chosen Option : 1

a1 S o agw R srwd @ e A R i R o o et R
AR & o= # A a

ok 2 e, giF, TRER, sl O, st AT s et T o e
Read the given question and decide which of the following arguments is {are) strong.

Question: Are the best things in life free?

Argument 1: Life gives us o many opporfunities for free and yet most of us waste it.
Argument 2: Smile, friends, family. good talk, good sleep and happy memories are all
free.

Aue P 3 2 2t gerERTEr E
Both arguments 1 and 2 are strong.
| IS T 2 gEEUTER g
Only argument 2 is strong.
. FaeT T 1 TTEE B
Only argument 1 is strong.
1 3 2 gt gerEeTer AT §

Neither argument 1 nor 2 is strong.

x

x

x

O35 Sy e aTe Fory 3 v Fger § 2

Question 1D ;9864493817
Status : Answered
Chosen Option ;4

How many triangles are present in the below figure?

ans X119
V217



X318
X416

36 ‘
Q mmmﬂﬂmzmiﬁﬂﬂﬂ#MW* Question ID - 9864492392

Wha is the suthor of the awtobdiographical work “On My Terms! From the Orassroots lo Stalus:- Answared
the Corridors of Power™? Chosen Option :1

Ans 3{]31!: 9HIE dled
i Lalu Prasad Yadav
X ; AaaAR" g
Manmohan Singh
3 m m
Sharad Pawar
HAT g

4
Amit Shah

Qa7 HASAF FHA F TEH & Question ID : 9864493538

r ; i Status : Answered
are the carriers of heredity material. Chosen Option - 4

Ans " gIAw
Gametes
x , T FRE
Germ cells
HTITIRT

JJ,
Genes

Q.38 e PR e & et o i S ¥ o o & S 1 HEE Question D - 9864493406

wafEa fmam Aen & & g 309w e e geme Status : Answered
I two Coulomb of charge flows through any cross-section of a conductor in one sacond, Cheosen Option : 2
whit will be the current flowing through it?

Ans 1

.G

X 2

b

o

0% Tper # g A & Question ID - 9864493893

Status - Answered
A school always has a: Chosen Option :3

Ans qUTATEO 9
x 1
Headmaster



HE9R
Teacher

QeI

Library

ST
Building

4

Q40 ==w 7+ ax + b & TRy + 3 ¥ Trnfas fem s & iy 22 9w AT
i mEE v by o+ o FE o- 3 % TonTem fem s f A O 24 e
@ Mo + b & A FOT 8

Ifx® + ax + b, when divided by ¥ - 3, leaves a remadnder of 22 and +° + bx + a,
when divided by x - 3, leaves a remainder of 24, thena + b="7

Ans X 1.-23
X2-7

37

X423

Cuestion 1D
Status

Chosen Option :

- 9BE44926T6
:Not Answered

Q41 TTAI] HEAT AT T T U SO HIFHTES et SO |
An element with an atomic number of will form a basic oxide.

Ans X117

26
N 37

v 20

Question 1D
Status

Chosen Option :

(9864493448
‘Mot Answered

Q42 Ty wwd gEmEd A aF 2017 # WEegE FiwAE O e
Which Indian Chief Minister won the 2017 Outlook Speakout Award?

w8 5 1, T FAX

Nitish Kumar

g AT TSATTS
Naveen Patnaik
"AAST dA=T
Mamata Banerjee

x 4 % T
Devendra Fadnavis

& a

Question 1D
Status
Chosen Option

(9864492307

sAnswered
|

Q.43 o ofvw = ¥, T8 T &, 50 off § s oft ofor F B oF ors ofen
# frmd Frgmm?

A box is termed as eraser, an eraser is termed as pen, a pen is termed as stick, and a stick
is termed as plant. Then in the exam a student will write with .

Ans q‘hﬂ

Question 1D
Status
Chosen Option

:9B64493T795
JAnswered
1

Q.44

Question 1D

19864493197



U Toel & Fotelel 1 AT Hlam g S e

Chosen Option ;2
The reproductive parts of a flower are:
R AR
Stamens and carpels
X2 HierTa 3R R
Calyx and corolla
x 3 HferTa 3R Frdew
Calyx and carpels
o T 3
Corolla and stamens

Q.45 ED HT AT fi Eof
me fava & PA W WE Ied WIFTT (Answer figure) &1 g1 e o

Problems Figures Status : Answered
L ‘? Chosen Option : 3
‘{$)— : : !
A B o D

Answer Figures

X by

1 2 3 4
Choose the correct figure which will replace the question mark.

Problems Figures
A B C D
Answer Figures
, |
4 |
K I

Ans ?{'14
B,
vi3
X4

Q.46 ;ﬂﬁlw#ﬁarﬁmg:ﬂﬁwtm*mss ﬂﬂ,mﬁ:mﬁn&ﬁmﬂ
AT 36 T o, 5 S aU T o e SR o SR A RE S g E
gy dET TR

Monika's father was 38 years of age when she was bom while her mother was 36 vears old Chosen Option :4
when her brother four years younger 1o her was born. What i5 the difference between the

Question ID : 9864492633
Status : Answered

ages of her parents?

Ans x1_3aﬁ-

3 years



x4_za1§r

2 years

Q47 37 R 71 999 F{ S e IEg ¥ wEwT A 8

YN~
A B C D
Select the figure that does NOT belong in the following group.

il

N
C

Ans

XX € X> D
m>»0 07

4

Question |1D ;9864494384
Status : Answered
Chosen Option : 2

Q.48 s & TF weulaE aF, o genane i B AR ol & osmd & e
f1af2 qud # HEE W AT & HROT @0 o B A 39 W W
TEeaTAT & FROT Fver R g

Consider a lypothetical planet whose mass and radius are both half that of Earth. If g is
the acceleration due to gravity on the surface of Earth, the acceleration due to gravity on
the planet will be:

Ans \"1 zg
Xzg/4
X3 g
X4g/2

Cuestion ID : 9864493280
Status : Answered
Chosen Option -1

Q.49 of & i @ w5 g X 150° e it 105° T O B X aw
e foan & 7% HE wE I W
Facing East, X turmns 150° clockwise and 105° anti-clockwise, Which direction s X facing

CQuestion 1D : 9864493944
Status : Answered

ow? Chosen Option - 4
Ans x’ 1 m'w ﬁ.
North-West
X2 Fea-qd A
North-East
x 3 Zio-aRTw &7
South-West
v ZIRuT-qe &
South-East
Q.50

Question 1D : 9864493927
Status : Answered
Chosen Option =2




Ans

for e st w0 wf wfaw A e Ty S & D e st & 3
fftaw =0 & FiF & Frd Ferer =1 w5 )

T
i awt Fal § i s A

e
1: it Apaar =i s §
2. mfr ozt #gwar §

Consider the given statements as true and decide which of the given conclusions can
definitely be drawn from the given statements,

Statemenis:
All carpenters are workers. All workers are hardworking.

Conclusions:
1: All the hardworking people are workers.
2: All the carpenters are hardworking.

Faer Y 2 IO FaT

Only conclusion 2 follows.

frwd 1 3k 2 AT sgETer w1 E
J. Both conclusions 1 and 2 follow.
LT AT & 2 HTHOT F g

F G
v

X

Neither conclusion 1 nor 2 follows.

, et s 1 STERoT e B

Only conclusion 1 follows.

x

Q.51

Ans

faega e 1 s AT T gl

The SI unit of electric current is;

areT
volt

X 2

milliampere
T
ampere

AEHTFII

microampere

51

W

754

Question |D : 9864493205
Status : Answered
Chosen Option : 3

Q.52 ot & v aeg s EtE o T & ofy see e 240 T & a

Ans

EET A FH 220 F AW WIT EET] 3% W @R O & BT aeg @ R

HFEU F4T g aee?
Vayati s0ld an item at a loss of 13%. 17 he had sold it for T 49 more, e would have made
a profit of 22%, What should be the selling price of the item to gain a profit of 30957

v 1 T182
X 2319230
X 33190
X +%187.75

Question 10 : 9864493029
Status - Answered
Chosen Option © 3

Q.53 Trmtafas & & frge 909 57 o= F WYY =T F TS g9 &

o o = 37
Which of the following is used in making perfumes as well as flavouring agents?

Cuestion |D : 9864493532
Status : Answered



Ans ﬁ'ﬂ?ﬁﬂ' l Cheosen Option @3

X 2 éﬂﬁlﬁﬂi HET

Ethanoic acid
<A :

Ethanol

T

4

Esters

Qs dm s R A a o & Sw R & 48 e oy o2 3 6 i )
AT Wiy O & A7 § @ =T = O &) e s 45 dew o Question 1D : 9384492870
§ ¥FE & 2t 2 aw = A §) el A B A R i Status : Not Answered

A mini-van crosses two people walking at the speed of 4.8 kan'h and 6 k' in the same Chosen Option - -
direction as that in which the mini-van is heading in 4.5 s and © 5, respectively. What is

the length of the mini-van?

Ans ?{1 4 ;ﬂa-\r
4m
x 3.5 HAreT
35m
x s 2 #reT
2m
v 3 AR
3m
Q55 Qrr I THE T fAaum a{th.’Frl' Eﬁ-’l‘ﬂ" Question ID : 9864493733
Status : Answered
‘ - X c&‘ Chesen Option -1
A B C D

Select the figure which does NOT belong to the group.

malibdeY

Ans }(1_5
v2A
X3D
X4C

Q.56 HTm WS FwarE T 9fwes (THEE L) & oA A w7
Who is the current chairman of the All India Council for Technical Education (AICTEY?

Cuestion 1D ;9864492274
Status : Answered

Ans x : AAHAT @'q_t_-laﬁT Chosen Option - 4
Najma Heptulla
X 2 T AR
Srikant Datar

Anil Sahasrabudhe



, T\ i5-r3
Pritam Singh

X

an H g9 AT H 6 HISaT 9T A &

Question 1D : 9864493635
Status : Answered
Chosen Option -4

The has abundant white fibres.
Ans

. '\‘;ﬂg
ligament

b E
cartilage
tendon

754 E E
bone

Q58 s Ry & w99 = S A B v wng & vafT S6

A% =il

Question 10 : 9864494034
Status : Answered
Chosen Option 31

A B C D
Select the figure that does NOT belong in the following group.

7\ 71=|I
A B C

Ans x1_B
X2D
XA
viC

Q.59 mewt & sfros et 39 & o o o o =0 @ e g R
o = ¥

Involuntary actions in naman beings such as blood pressure, salivation and vomiting are
controlled by the:

Question 1D ;9864493236
Status : Answered
Chosen Option : 2

Ans
X 1 Sica:]

Pons
FERIDCEan )
| Hypothalamus
| S FE
Spinal cord

H=gar
v
Medulla

X2

X

Q.60 wwa # Frewdr (wg T F F) 2017 F #a F 7R ® "0 Fw P
Incdia implemented the GST (Goods and Service Tax) from which month of 20172

Ans x1m€f

Question 1D : 9864492198
Status : Answered
Chosen Option ;4

March



Q.61 Sales of Bikes in india a3 par the Colourin ' 2
sl Question ID : 9864494152

. Status - Answered
Chosen Option : 3

Black- wTaT

Silver- TH7T

White- FiFg

Red- &mF

Yellow- T

oY W 2009 # ddr i Evgww #r T R 50,000 ¥, A Ol vd wm
g & Tl & geer & vt anw & R B don el w0

Sales of Bikes in india as per the Colourin
2009

Pt

F .
9.
’ w N 1=
11z i
: M |
[ Bk abaw Whine Radl Telow

If the total number of bikes sold in 2009 was S00040, then by what number was the sales of
white bikes less than that of yellow and red bikes put together?

Ans X 1. 5,000
v 2 2,500
~ 3 3,000
« 410,000

Q.62 Fr=fafis sva=t & oF ¥ & o F=wl & o a7 & F o9 & e

¥ wi i (T &) T Question 1D : 9864494217

Status : Answered
T Chosen Option : 4

I.g;t!ﬂﬁrﬁtfl
2. wir g Fiaa 1

ek,

1. §5 gF A7

2. O T OFF §
Consider the given statements tree and decide which of the given conchesions logically
follow{s) from the statanens,

Statements:
I. Some tables are books,
2, All books are chairs.
Conclusions:

1. Some books are tables.
2. Some chairs are books,



ANs
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Both conclusions 1 and 2 follow.

1 AR 2 gt geRor @ A g
Neither conclusion 1 nor 2 follows.

_ el fASHY 2 HFEROT HI &
Only conclusion 2 follows.

, Aol fASHY 1 IHTEOT FHT &

Only conclusion 1 follows.
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Who designed the world's lightest satellite *Kalamsat’, which NASA launched and set a
new world record?

Question 1D ;9864494485
Status : Answered
Chosen Option : 3

x , RET ATH
Rifath Sharook
| T 9IS
Shawna Pandya
s R o
Riyaz Sharook

x o I GHOT
Madhav Dhekane
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Question 1D : 9864493875
Status : Answered
Chosen Option ;1
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Decide which of the conclusions logically follow(s) from the mformation given in the
statement.

Statements:
During the rainy season many train accidents occur i hilly regions due to landslides,

Conclusions:
1. Trains should not mn during the rainy seaspn.
2. More precautions should be taken by the government to avoid landslides,

i Faer fashd 2 HFETOT ST 8
Only conclusion 2 follows

e fsd 1 JFERor e §
Only conclusion 1 follows

| forsd 1 3t 2 At sregeRor Fwa E

Both 1 and 2 follow
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Neither 1 nor 2 follows
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2550 — [510 — {270 — (90 — 80 + 70)}]

Question |D ;9864492519
Status : Answered
Chosen Opfion : 3

Solve the following.
2550 — [510 — {270 — (90 — 80 + 70)}]

Ans X 1. 2210
X 2 2240
X 32220
v 4 2230
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‘Which Indian city was gifted by the Porfuguese as dowry to Charles I, the King of
England, when he got married to the sister of the King of Portugal in 16627

Question 1D ;9864492117
Status : Answered
Chosen Option : 1
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Goa

v g E !
Mumbai

<A :
Daman

x o B
Cochin
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BFK : IMR :: DGP :

Question 1D ; 9864494065
Status : Answered
Chosen Option : 2

Select the missing term based on the given related pair of letter clusters.

BFE:IMR:DOP:
Ans  of 1 KNW

X 2 KNZ

X 3 WNK

X 4 KWN

G i Ao st e S mmror o s g s = &
Which of the following is one of the saltiest lakes in the world?

CQuestion 1D : 9864492136
Status : Answered
Chosen Option 2

Ans & A4 PR
Dead Sea
xz_mw
Caspian Sea
X 3 dTel |
Red Sea
x 4 HTel HF

Aral Sea
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compressed spring has:
Ans v frufas F=r
potential energy
o AT FaAT
kinetic energy
o Tarafas S
chemical energy
s FSHT FSr
heat energy

Question 1D ;9864493341
Status : Answered
Chosen Option : 1

Q.70 st & o= et 7160 # wiy o 53 2180 # &9 fam v & 3w
% TETl
Kaushik booght a toy for T 160 and sold it for T 180. The rate of profit was

Any. X 1175
V2125
X 31525
X 416

%

Cluestion 1D 19864492928
Status : Not Answered
Chosen Option © -
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An element has an atomic weight of W and an atomic number of M. The number of
protons in the nucleus of its atom is:

Ans X 1. W-N
X2Ww
v3iN
K4 W+N

Question 1D : 9864493087
Status : Answered
Chosen Option : 2

72 @Y FT FAF (NaCl) Faw &= gar 22
Common salt (NaCl) is made up of:

e T ASET HFA AR TH ASEd &R

W
a strong acid and a strong base

xzﬂmmmaﬂrmwm

a weak acid and a strong base

x 5 T FAAR 3FT AR 0 FAGR &R
a weak acid and a weak base

, T A 3 3N v FASN AT

a strong acid and a weak base

X

Cuestion 1D : 9864493530
Status ; Answered
Chosen Option -1

o7 e 9T FT pH TR AT &
The human body works within the pH range of:

Ans
v TOW78
T.0t0 7.8

Question 1D : 9864493289
Status - Answered
Chosen Option 1




X TOHE6
7.010 8.6
x 3 60/ 7.0
6.00 7.0
x 4 600638
6.0106.8

Q.74 frr or w5 o o =5 i AT S B & o et & & sty o B Question 1D - 9864493995
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® Status - Answered
T Chosen Option : 3
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Consider the given argument and decide which of the given assumpions is (are) implicit.
Argument;
All the faculty members are instructed to reach the college by 2.00 A M.

Axsumplions:

1. Some faculty members do not come on time.
2. Faculty members will follow all the instrisctions in the notice,

Ans 1 ¥ AeTar 2 AT 2
Only assumption 2 implicit.
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Neither 1 nor 2 is implicit.

v ik 2 =t @Afea &

Both 1 and 2 are implicit.

, Faa A=gar 1 fafea &
Only assumption 1 implicit.
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A ball, thrown vertically upward, rises to a height of 50 m and retums to its original Chosen Option : 2
position. The magnitode of its displacement after 7 s of motion will be . (take g=10
m/s)

i x1_45:im'
45 m
125 Hrex
125m
X 3 25 AT
25m
v 35

35m

xz




